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Q.1

You are the newly appointed actuary for a leading health insurance company ABC Ltd. A
health care provider approaches your company and proposes a bundled payment
arrangement for Dental insurance Plans. Currently, no insurer in the market has such an
arrangement in place.

A bundled payment arrangement is a system whereby the cost of some of the underlying
components of a dental plan is fixed in advance. For instance, the cost of an extraction will
comprise consultation, scanning, surgery, drugs and post-surgery expenses, all lumped into
a fixed cost.

)} Discuss the various factors that the insurer will need to consider before adopting the
bundled payment arrangement.

Another provider approaches ABC Ltd and proposes a full capitation arrangement for dental
plans. Under a full capitation arrangement, the cost per member per annum is fixed in
advance and renegotiated every year. Again, this is first of its kind in the market.

ii)  Outline the advantages and disadvantages for the insurer of adopting the full
capitation model.

In your introductory meeting, the marketing director of the ABC Ltd. has suggested that the
company should consider implementing the following.

iii)  “Payment for Quality” — payment to health care service providers should be linked to
the quality of service that they deliver to the policyholders. Discuss the proposal.

iv)  “Chronic Disease Management (CDM)” — a program offered to the policyholders that
would improve the overall health and reduce claims. Outline how you would assess
the cost savings of such a program.

External Consulting Actuary for ABC Ltd. has produced a report recently which showed

that the reserves held by the insurer for its Group Health business were materially lower

than what they should have been.

v)  Outline the possible reasons that could have led to the under-reserving

The CEO of the company has asked you to independently examine the adequacy of
reserving and advice any remedial action required.

vi)  Describe in detail the process that you would follow in order to determine the
adequacy of the reserving

vii)  Outline the next steps that you recommend, after your assessment, if
a) You agree with the Consulting actuary’s report

b) You do not agree with the Consulting actuary’s report

9)

(6)

(6)

(6)

(6)

(21)

©)

3)
[60]
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Q.2 1) Explain the main objective of the IRDAI (Expenses of Management of Insurers
transacting General or Health Insurance business) Regulations, 2016. (3)
i) Outline the main provisions of the Regulations (5)
A health insurance company started its operation in 2010. The company sells both
individual and Group medical reimbursement products. Also, it sells lump sum
Critical Illness product on standalone basis as well as a rider to the medical
reimbursement products.
For the financial year 2017-18, the company has set the following targets:
Health Individual — INR 450 Crore
Health Group — INR 200 Crore
Critical lllness — INR 10 Crore
The board has also decided to bid for a government sponsored health insurance
scheme with a premium target of INR 250 Crore.
The expense allowance was calculated as per the new IRDAI regulation and it was
found that the actual expenses incurred are higher than that allowed under the
regulation.
iii)  In order to be within the allowable limit, the management decided to go for first dollar
quota share reinsurance and use the ceding commission.
Discuss whether this would help compliance with regulation? 3)
iv)  The company has also decided to manage claims in-house from 01* October 2017.
State with reasons the impact it would have on the expense allowance. (@)
v)  The board of management has decided that they need to spend an additional
INR 50 Crore for expanding their operations.
a) State the specific provisions related to exemption from complying with the
regulation. (3)
b) List the likely actions for non-compliance 4)
vi)  The board has also decided to carry out a detailed expense analysis.
a) State the main purpose of an expense analysis for a health insurer 3
b) List five types of non-commission expenses 2
c) Describe the process of expense analysis (7)
The outcome of the analysis suggested that the company should reduce fixed overhead
expenses.
d) Discuss the probable causes and suggest possible ways of reducing the overhead (8)
[40]
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